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A:(B+C) = 1:5

B:(C+A)  = 1:2

A:B:C = ?



FIRST PROPORTIONAL 



MEAN (SECOND) PROPORTIONAL 



THIRD PROPORTIONAL 



FOURTH PROPORTIONAL 



A और B के वेतन का अनुपात 3:5 ह ैऔर B और C के वेतन का अनुपात 5:6 

ह।ै यदि A और C के वेतन के बीच का अंतर Y रुपये ह ैतो Y के पि  में B का 

वेतन ज्ञात करें।

Ratio of salaries of A and B is 3:5 and B and C is  5:6. If 

difference between salaries of  A and C is Rs  Y so find the 

salary of B in term of Y.    
1.  3 Y

2.

3.  5 Y

4.

5. None of these

3Y

5

5Y

3
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A: B = 1: 4, B: C = 5: 2, C: D = 3: 2 ह ैतो ननम्ननिनित कथनों पर नवचार 

कररए और बताइए दक कौन सा कथन सही ह-ै

If A: B = 1: 4, B: C = 5: 2, C: D = 3: 2, consider the following 

statements and state which statement is correct.
1. A:C = 2 : 1

2. B:D =31 : 11

3. A:D =10: 21

4. A:C:D = 5 : 8 :7

5. None of these

IBPS CLERK MAINS-2021 



60 िीटर के नमश्रण में िधू और पानी का अनुपात 2: 1 ह,ै नमश्रण में दकतना पानी 

डािा जाना चानहए तादक अनुपात 1: 2 हो जाए?

In the mixture of 60 litres the ratio of milk and water 2:1 , how 

much water should be added in the mixture so that ratio will be 

1:2 ?

1. 30

2. 33

3. 60

4. 45

5.NOT
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A, B, C वेतन 2: 3: 5 के अनुपात में हैं। यदि वेतन में क्रमशः 15%, 

10% और 20% की वेतन वृनि िी जाती ह,ै तो उनके वेतन का नया 

अनुपात क्या होगा?

The salaries A, B, C are in the ratio 2 : 3 : 5. If the 

increments of 15%, 10% and 20% are allowed 

respectively in their salaries, then what will be new ratio 

of their salaries?
1. 32:12:41

2. 23:33:65

3. 11:23:41

4. 23:33:60

5. None of these
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A और B की आय का अनुपात 5: 4 ह ैऔर उनके व्यय का अनुपात 3: 2 ह,ै यदि वर्ष 

के अंत में प्रत्येक को रु 128000 की बचत होती ह।ै अतः A की आय ज्ञात कीनजए।

The ratio of the income of A and B is 5:4 and the ratio of their 

expenditure is 3:2 , if the end of year each saves  Rs.128000. So 

find income of A .

1.168000

2.336809

3.160000

4.345671

5.None of these
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एक वृत्त और एक वगष का क्षेत्रफि समान ह।ै इसनिए, वगष के भुजा और वृत्त की 

नत्रज्या का अनुपात ह?ै

A circle and a square have same area. Therefore, the ratio of 

the side of the square and the radius of the circle is ?

1. π : 1
2. 1 : √π
3. 1 : π
4. π : 1
5. None of these
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एक रानश को क्रमशः P, Q और R के बीच 2: 5: 7 के अनुपात में नवभानजत 

दकया जाना ह।ै यदि P और R का कुि नहस्सा ,Q के नहस्से से रु 2400 अनधक 

ह,ै इसमें P का नहस्सा क्या होगा?

An amount of money is to be divided between P, Q  and R in 

the ratio of 2 : 5 : 7 respectively. If the total of P’s and R’s share 

is Rs. 2400 more than Q’s share. What will be P’s share in it ?
1.Rs.1200

2.Rs.1290

3.Rs.1470

4.Rs.1480

5.None of these
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एक काम के निए ननयोनजत 20 आिनमयों का कुि वेतन एक दिन के निए रु 

25,000 ह।ै सभी मनहिाओं का वेतन रु 24000 ह ैजबदक सभी बच्चों का वेतन रु 

20000 ह।ै यदि एक पुरुर्, मनहिा और एक बच्चे के वेतन का अनुपात 25:20:16 

ह,ै तो काम के निए ननयोनजत श्रनमकों की कुि संख्या ज्ञात कीनजए?

The total wage of 20 men employed for a work is Rs.25000 for a 

day. The wage of all the women is Rs.24000 while the wage of 

all the children is Rs.20000. If the ratio of the wage of a man, 

woman and a child is 25:20:16, then  find the total number of 

workers employed for the work? 

1.64

2. 65

3. 67

4. 68

5.None of these
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